L1l

Tabnuya 35
CpagnumenvHas oyeHka Kavecmea JCU3HU y UHBANUOO8 6credcmeue npogeccuoranbrozo bpowxuma
u XOBbJI 6 3aeucumocmu om go3pacma u euda 6powxuma (abe. 4., %, p)

I r XOBJI JI0CTOBEPHOCTS PARTHHHA
BospacTHble rpymms

Towzsa- Jo 50 net | 50-55 net Crapue Jio 50 net | 50-55 ner Crapize

M 50 ner 50 net [ pra Pi4 Pas P Pt P+ Ps6 prs

n=16 n=29 n=8 =17 =13 n=s
abc. | % Jabc | % [abc.| % |abc. | % |abc. | % |abe | %

PF<Py, 0 0 3 J104] 1 [125] 4 [235] 1 {77] 0 O] >01]>01]<005{>01] >01 | >0.1 |<005] >0.1| >0.1
PF<Pgy 13 | 813] 26 |897] 8 | 100] 13 {765] 9 [692] 1 [20] >0.1 | >0.1 | >0.1 | >0.1 | <0.001 | >0.1 | <0.05| >0.1 | <0.05
PF<Py 9 1474 19 |655( 7 |875] 11 |647| 6 [462] 1 [20] >0.1 | >0.1 | >01 [ >0.1 | <001 | >0.1 | >0.1 | >0.1 | >0
RP<Py | 2 [125] 4 [138) 2 [250) 4 [235] 1 | 77] 0 O >01 | >01]>01]>01] >0.1 | >01]|<005] >0.1 | >0.1
RP<Pg 13 |813] 19 {655} 6 [750] 13 }765] 9 [692] 1 {20] >0.1 | >0.1 | >0.1 | >0.1 >0.1 >).]1 | <005] >0.1 | >0.1
BP<P¢ 0 0 3 [104] 1 JI125) 4 ]235) 1 77 1 [20] >0.1 | >0.1 | <0.05| >0.1 >(.1 >0.1 | >0.1 | >0.1 | >0.1
GH<Py; 1 6,3 8 1276 3 |375] 7 |412] 5 |385| 1 |20] >0.1 | >0.1 | <0.05| >0.1 >(.1 >0.1 | >0.1 | >01 | >0.1
SF<Pyq 2 [125] 2 {69 3 |375] 4 [235] 3 [231] 0 [0 >0.1 [ >01 ] >01 ] >01 >0.1 >0.1 | <005} >0.1 | >0.1
SF<Py, 11 |688| 24 [828| 7 [875] 14 |84 13 | 100] 3 |60 >01 | >01 | >0.1 [<005] >01 | >0.1 | <005]| >0.1 | >0.1
SF<Pi 2 [125]0 2 169 3 |375] 4 1235 13 {231] 0 [ 0] >01 | >01 [ >01]>011} >0.1 {>0.1[<005]>01 [ >01
SF<P 10 | 625] 16 [552] 6 | 750| 10 |588) 12 {833} 1 [20] >0.1 | >0.1 | >0.1 | <0.01 | >0.1 |<005| >0.1 | <0.01 | >0.1
RE<Py¢ 1 163] 5 [172] 4 |500) 2 {118) 2 [154] 0 | 0<005] >0.1 ] >01 | >01 | <001 | >0.1 | >0.1 | >0.1 | >0.1
RE<Py, | 8 [500( | |379] 7 [875] 6 {353| 6 |462| 2 |40| >0.1 [ <001 | >0.1 | >0.1 | >0.1 | >0.1 | >0.1 | >0.1 | >0.1
MH<Py | 12 |750] 25 |862| 8 | 100 | 13 |765] 12 |833] 3 |60|<005| >0.1 | >0.1 [ >01 | >01 | >0.1 | >0.1 | >0.1 | >0.1
MH<Pn | 5 |313] 8 |276] 5 |625] 4 [235] 6 [462f 0 | 0| >01 | >0.1 | >0.1 | >0.1 { <0.001 | >0.1 | <0.05| <0.01 | >0.1
MH<Pw | 9 |363) 15 {517 7 |875] 11 }64,7] 10 | 769] 2 [40] >0.1 | <005} >0.1 [ >0.1 | >01 | >0.1 | >0.1 | >0.1 | 0.1




